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Instruction to Candidates

» This paper consists of two parts -Part - T (25 MCQ) and Part -11 (6 essay type questions).
ads p0 emdd ecmBs? e@sibn 08, T- emde (Part-1) dydde g 25 Bt ¢ 1l emnes

SOmw wm gl 06 ¢ 0@sidn oD,

» The use of non-programable clectronic calculator is permitted.
smBens g eouwd nenm esly wiboo mg .

» Mobile phones and other electronic devices arc totally prohibited. Please leave them

outside / 8o mEed 508 ¢Smdm vy ednwed® Siyd cumda go HH B® nund 6d.
S00 Buo BB @200 @Eieds 80 maBI.

Part -1

Recommended time to complete the Part -I is 1 hour. B88ed@n moce we 01 &.
Answer All questions, 8ee® ydmdEd BEnd wvwsin.

vV VY

on the MCQ answer sheet.

Choose the most correct answer to each question and mark a cross ‘X’ over the answer

2 g8l B8y qubst HD02e BEnJS @5}3"69 BEnd vyed 68 BOGE eme @ ‘X cnea

WOBIB.
> Any answer with more than one cross will not be counted.
8810 Swmd Of vemmw c@e 3 yIH® dw GHBIW WOY ENEED.

Part - II

» Consist of 06(six) essay type questions in three sections (A, B and C).
A, B s C @mndd 5md gas 00 = 9@ ¢,

» Answer at least 01(One) question from each section (A, B and C).
A, B ww C emdel endst ¢D® Dacws’ &t yudmne @8sf endd oxlm.

> Answer only four (04) questions out of six. ©&@» ¥BSPO B BERS wvBEIH.

% If more than 04(Four) question are answered, Only the first 04(Four) will be marked.
yE® HEHO O BERG wio@ds el ydn vnd0 vdes Gmen ey Crod.

Planck’s constant h = 6.63 x 103 J s
Velocity of light C =3 x 108 m 5!
Avogadro constant L = 6.023 x 107 mol!
1 atmosphere =760 torr = 10> N m?
Gas constant R =8.314 JK!mol"!
In.=2.303 logio
1m = 100cm

Relative Atomic Mass: H -1, C =12, N -14, O -16, Na—23, Mg - 24, A1 -27, § -32, CI-35.5, K~ 39,

Ca -40, Fe -56, Ag -108, Ba - 137
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PART I
Answer All Questions / 8060 gadmdcd BEnd suerin.

1. The hybridization of the carbon atoms in HC=CH and the bond angle of HC=CH are,
HC=CH gied mdsd sd@:qDc 8ndmdeans v HC=CH axtos end e dned
(1) sp?, 180° (2) sp?, 160° (3) sp, 180° (4) sp?, 120° (5) sp®, 109°

2. Give the geometry of the BClz molecule shown below. BCI; geqed ¢s®Hm Ogwe Oned

Cli. EE;,CI
Ci
(1) linear 83w (2) tetrahedral B Se
(3) octahedral/gedomBw (4) trigonal planar /®8w» Heomodemomod
(5) bent/=n8en

3. Give the TUPAC name for the following molecule.
swm geand sewo [UPAC m0@moeme egsis.

HO
NH, ClI
(1) 4-chloro-2-aminohexanol (2) 3-chloro-2-aminohexanol
(3) 2-chloro-4-aminohexanol (4) 2-amino-4-chloropentanol

(5) 4-amino-2-chloropentanol

4. What are the reagents necessary to achieve the following reaction?
swm 9RHwed B BB abaw gBmdm /reagents Dmed
CH3CH=CH2 — CI’I3CHBI‘CH281‘

(1) HBr (2) HOBr (3) B (4) HBt/Hz0 (5) Bro/CCla

5. How many resonance structures are possible for the following structure?
80D ceds DRwe o Bao vif Bed® wdygnls Oy oen Dxned

SN
(D1 (2) 4 (3)3 42 (55
6. What is the C-C bond length [in A] of an alkane? qdemtmem C-C astas 2o Dxyed

(1) 1.54 (2) 1.34 (3) 1.20 (4) 1.49 (5) 1.79

7. Which of the following compounds has the highest boiling point?
s9D teewnd® gudsy @VE® mme gien!

(1) ethane (2) 2-methylbutane  (3) pentane (4) propane  (5) 2-methylpropane
8. Which of the following is correct? swn oews? n@u H008 @b ¢?
(1) IL=1dm? (2)IL=10dm* (3) I0L=1dm? @ IL=1m? (5 IL=10cm’
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9. The mole percent of oxygen present in a gaseous mixture containing 14.0 g of nitrogen and 32 g of
oxygen is,
14.0 g 28Gess? ww 32 g @wBisd af-q Dy Bgenem R8sy 84 yBanw Dm®d,
(1) 50 (2) 333 (3) 60.6 (4 40 (5) 20

10.  Which of the following will occupy a volume of 1.12 [ at STP
©.¢.8. 8 sosn sevst o 1.12 L s880m gi-q d ¢7
(1) 0.5 moles of nitrogen gas
(2) 3.01 x 10?! nitrogen atoms
(3) 3.01 x 10*2 nitrogen molecules
(4} 0.05 moles of hydrogen gas
(5) 3.01 x 10%' hydrogen atoms

11. What is the concentration [in mol dm] of [H*] produced by 0.1 mol dm™ ethanoic acid
solution. The K, of ethanoic acid is 1.96 x 107 mol dm"
Smernis gdced Ki soe 1.96 X 1075 mol dm3 m® essicens 0.1 mol dm™?  onewnds
g8a gdwmont ne #B [HY] gom eorigeno mol dm? 08z dned

()14 x1075 (214 x107° (3196 x 107 (#H16 x10™° (516 x107°

Question number 12 to 14 based on the following equilibrium reaction
gafen gom 12 80 14 vwn w@nnEomdund agpg @b,

2M205(g) 3NOz + 72 Najg) + 202z

12. Equilibrium constant K. for above equilibrium is,
Qun sOnEmmbe sews K 0@nEnm Hene dmed

' [NOug]” N2l [0a¢e]” [N0s))° N2y [Oace)]”
(1) Kc = z (2) Ke = Pl
[N205(g)] [N2 050
(3) K, = [M0y)) Nae)) /:[Oz(g)]z 4) K, = [Noz(g)]g[NZ{g)][Oz(g)]1/2
¢ [M205(g)] ¢ [NZOS{gﬂZ

] 1 2
[NOz ()] [Nage) 12(0,}
4
[N205(g)]

O) K=

13. Equilibrium constant K, for above equilibrium is,
o5 8dnpEmmbe wews K e@ninmn Hume Ened

1
3 3 3 /2 2
PNo, () POae) RO, () Py ) X POse)

1) K, = @ Ky,=

2
DNZO{;{g} p§205(g)
1y
PRO, X Py X PO PYo.,.. X P§
3) K= (g)p"s; Ozcg) z(8) @ K,= _._IEM
‘ 2Ys(g) Nz0s(p)
3 3
) K, = PRosg)* PNagg) X Plage)

3
PN205¢g
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14, The relationship between K, and K. for above equilibrium is given by,
ewm 8nBmmdaed apc K, g5 K. 8a5i0mbe Dned

(1) K, = KRT? 2) K, = K.RT'/2 (3) K, = KRT 72
@) K. =K,RT"/ (5) K, = K RT

15. The balanced chemical equation for the reaction of calcium hydroxide and hydrochloric acid
CBe® vleiPndd vy wlepleclBn a®cw and Bedm nEm Jwwdln wdmcamw

Dmyed,
(1) Ca{OH) + HCI = CaCl + H;0 (2) CalOH); + 2HCI - CaCh + H;0
{3) Ca{CH}: + HCI — CaCl + 2H,0 {4) CalOH}); + 2HC - CaCl; + 2H,0

{5) Ca{OH}, + HCI -  CaCl + 2H,0

16. Ifthe pKa of a monobasic acid is 2.5, What is its K, value in mol dm~?
O 20d®m g®cwm pKa goe 2.5 5 o8 m8 o8 Ki qow mol dm? 08! nox! ob¢?

()75 x1073  (2)3.16 x107°  (3)25 x107% (4)3.16 x10°  (5)3.16 x 1073

17. How many moles of Mg(OH)2 would be needed to prepare 250 cm?® of'a 0,720 mol dm™
Solution?
wosteamns 0.720 mol dm? gdensm 250 cm?® = BEewue BB wams ghwen 6@ vom
Dryed emodes ¢
{1) 0.018 {(2) 0.375 {3) 0.288 {(4) 0.360 (5} 0.180

8. A student prepared a 0.03 mol dm™ solution, using 75.0 cm? solution with 0.080 mol dm™
concentration. What is the volume [in dm?] of the solution prepared?
Besewst wrtgens 0.080 mol dm™ § ebeswm 75.0 cm’ = coeadd mdeB3ds emoxlgenes
0.03 mol dm™ e®enem emn®es o880zt [dm?] e@m oy ¢7

(1) 0.200 (2) 0.750 (3) 0.150 (4) 0.015 (5) 0.030 -

Questions 19 and 21 are based on the following description
19 80 21 ¢wloo vwm & 4B Sdmde cuewdd »d wsinm,

0.01mol dm™ NaOH solution is added to a 50.0 cm?® of 0.02 mol dm™ H2S04 solution,
The pH of resultant solution is 12.

eostgens 0.02 mol dm™ HaSO4 a®c demem 50.0 cm® 20 wosigens 0.01 mol dm?
NaOH ¢denwd onf w07 o8, gdwm pdemed pH goe 12 md gon Bofest e,

19, What is the pH of initial H2SO4 solution?
HoSO4 8¢ oD wmed qud®um pH  goo eminda o7

(1)2.0 ) 2.7 3)1.7 @) 6.7 (5) 7.0

20. What is the volume [in cm?] of 0.01 mol dm= NaOH added to reach pH of 12,
eozicen 0.01 mol dm? § eedBw® n8efufnidd odaens! Bem 880 [em’] 08¢
ot me 80 pH qoe 12 md cwo o8 g7

(1)200.0  (2)105.0 (3) 150.0 (4 50.0 (5) 205.0
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21, What is the volume [in cm?] of NaOH required for neutralization of above acid?
QoD §OE BBD ¢edn BBOD gPen NaOH 8D em?® OBt emnn®@e ¢7
(1) 50.0 (2) 50.0 (3} 75.0 (4) 200.0 (5) 100.0

22.  The solubility of Ag2CrO4 is 1.15 % 10™*mol dm?, The Ksp of Ag2CrO4in pure water at same
temperature is,/ AgaCrOq @ gobwmoda 1.15 X 107*mol dm” 5® o820 ¢ deafdedd
AgCrOs D 888g 8eed K oo emvda ¢?

(1)6.08 x10-° (2)6.08 X 1072 (3)4.6 x 1071 (4)6.08 x 1076 (5)3.04 x 107

23, What is the pH of 0.001 mol dm™ ammonia solution?
sonteene 0.001 mol dm? gre8dBw pdeed pH gow emodes ¢

(1y3.0 (2)4.0 (3)9.0 (4) 10.0 (5)11.0
NS o OB Gy [NHz gy [ e , .
' ¢, = MHieeile _ altifan] - , . .
24, If Ky [NH, gy JEHz O] K, [NH I(aq)] then relationship between K, Ky and K is,
_ [N [oHGe)] [ agl|Hhg)
Ky, = NT1s a7z O] ww K, = [NH f(aq)] drtest m® Ky Ky wo Ky and

58I Ombw Bryed
() K= KyKs ()K= KaKo (3) Ko= KwKa  (4) Kw= JKK, (5 Ke= KWKy

25, Consider the statements given below. /swm By wEmzIB).
(2) Raoult’s law can be applied only to ideal binary system.
68 Be®e uByben ¢Bw-d gD eamw wgw vl ewgw Wiz,
(b) Mathematical expression for Raoult’s law is Pa=P{X,
SBE Buded 0&hn®w gumode PA= PYX A
(c) Xais the mole fraction of a solute in a binary solution.
Xa o5 8w-B pbamed e®oE ow e,
(d) PJ) is pure vapor pressure of component A
PY om A 8 eepdd Dods BOm@S.

Correct statements are /8808 BExd dmed

(1} All four statements (2) a, b, and d only (3) a, ¢, and d only
(4) a, b, and c only (5) b, cand d only




Part I}

Section A /A emodes

Answer at least 01{One) question./¢0® duews? nda dn=ulDs enddh on gne.

1.) (a) An unknown organic compound contains 40.00% C, 6.67% H and oxygen. Find the
empirical formula of the compound.
Otmda maRBm weodoom 40.00% C, 6.67% H wow @8d8dsf ¢1n. 0@
e el gmwdm wne RO ¢? (30 marks}
(b) The formula weight of the unknown organic compound in (a) is 87.0 gmol-. Find the
molecular formula of the compound.
" gum (a) 8 wcws! madn aecfoed Smmen doide 87.0 gmol! 00 5® o8
gen® npe ot ¢! (10 marks)
(c) Give the TUPAC name of the following compounds,

s9m eewd® oo [UPAC sn@mdens eqzin,
Cl

O
0]
o e O @ L
(30 marks)

(d) Draw all possible structural isomers of pentane and explain how the boiling point varies in

the structural isomers drawn,
eosiedsT wewe B 0l Bed® Oxw w0wlm gie ¢Died mesn ebmed DB agd

SOt N (30 marks}

2.) (a) Draw the cis/trans isomers of the following compounds and give their IUPAC names.
BOD 0l wed Dusld o@bedm gig dtied TUPAC mn®as! eexim.
CHBr=CHCI (20 marks)

(b) Give the hybridization of each carbon of the following molecule.
owm geaed g Bed® C oc@iade §udmdane e,

O (10 marks)

(c) Name the three major stages in the mechanism of the following reaction and
give the chemical reactions involved at each stage.
©95 lebm Jeandm HBHwd Brdm g Bedd nm m® md dbied Bedw

CenwBim yiifwds! equis.
CHy + Cl; We CHCI + Hel (35 marks)

(d) Draw all the possible resonance structures of the following anion,
BuD eDn grznoeme 8w ;8 Bud adugnin Dyo alsin,

CH;
=
o |
N
(20 marks)

6




(e) Name the three major intermediates in terms of carbon found in organic reactions.

AB® Senomed & vE0m yavs gac®:€ (intermediates Jo-owdo now ©®
WOBIB. (15 marks)

Section B/B emoeDe

Answer at least 01(One) question./20® Sansews! ydw swfos enddh on gne.

3. (a) (i) Write the name of each of the following ionic compounds.
swn sowst goin eeeiodE H® wews! moln.

MgzNz, BaCls, Ah(SO4)3, Cr20s3

(i) Write the formula of the following compounds.
wom & g8 we-ewdvde gy Eoslo.

‘Nitrous acid, carbon tetrachloride, barium hydroxide, aluminium phosphate

(iif) Write the formula of the following ions./ews & 18 gemde gpe Gesin.

Oxide, nitrate, sulphite, carbonate (36 marks)

(b) (1) Explain the term Basic Physical Quantity and write down its name, SI units and the
symbol for each of the quantity. /§Em eweBm 6w wlm vwgp, OY HEDE 1Y, S
Smmo oW SHed e Benst mOsm,

(ii) Give the symbol, defining equation and the SI unit of the following derived physical
quantities given below. /own & &8 OyFosin B evellm BOED GG wonm®, O®
wetom edmdens o dved S| dmme eews’ mosTs.

Density, concentration, pressure, energy, electric charge (40 marks)

(¢) (1) Calculate the mass of AgNO3 (Molar mass 170) present in 100 ml of its 0.25 mol dm™
solution.
0.25 mol dm? AgNO; ¢benem 100 ml = g@eg AgNO; dmetie oans »osis .
(AgNO; 888w dmstde 170)
(i) 300 ml of 3.0 mol dm? NaCl is added to 200 mi of 4.0 mol dm™ BaClz solution. Calculate

the concentration of chloride ions in the resulting solution in mol dm™.

4.0 mol dm3 BaCly ¢o®enwz 200 ml w0 3.0 mol dm NaCl g esweiisy 300 ml o dmn

Do 8. Cedm pbaed Becidl8 qus wmsigee moldm™ 88=f nemw
BB, (24 marks)




4. (a) (i) Briefly explain precipitation reactions and oxidation-reduction reactions giving example
of each reaction. eowdes afmd, gbulodnes yBBw oy SxfBmdan - Bnden
oRBw emdeast Bund mdsim.

(i)  Write the balanced equation for the oxidation of Fe(Il) to Fe(IlI} by Cr207* where
Cry07% is reduced to Cr?* in acidic medium, ®®8zm ®dned & Crn07> 88s7 Fe(ll)
Fe(TIl) 200 @@8mdemnn mom gnd CrnO, Cr' 900 anaBwdeas 88 wngwm nEn
Semwdim olmdeme Swrim, (30 marks)

(b) (i)  Calculate the concentration of nitric acid in mol dm? in a sample with 69% mass
percent of nitric acid having a density of 1.41 g cm™. emf®e 1.41 gom? ww dnsia
uBamo 69% 8 Oz HBI e®c Bwlum, wmsfeens mol dm? 885 nwmwe »osis

(iiy A sample of drinking water was found to be contaminated with chloroform (CHCIs).
The level of contamination was 15ppm. @8 8ce Bwnesl, CHCl ©8x7 quby &
#1890 e ol 8. qoudp § u®enw 15ppm o,

e Express this in percent by mass/ e®@w &dmsiD) yBanm gumwdens? wcws! mosim.
e Calculate the molality of chloroform in the water sample / e@® wWecfetood® aim
dew Buled o@eBwmbe ®enmae mosim. (55 marks)

(¢) Calcium nitrate decomposes to form calcium oxide, nitrogen dioxide and oxygen. When a
0.01 mol sample of calcium nitrate is heated oxygen gas is produced. mF8we® »B0250
Bawdtmn 8 o EBue® ledd, mHBYusT ewdwnis ow @8dsT et od. i T8e®
»HBedd 0.01 @Y u®remwst ©8n Hulont dnl me BO @Bdny Hogd Ao @d.

(i)  Write down the balanced chemical reaction including the physical states.
BE® StneBm uBBwd, &8 eveldnm nfEd ecds Swusim.

(ii)  Calculate the number of moles of oxygen gas produced when this sample is
completely decomposed. / 0®® Buwile wd®ndamens? Sewfinin § 80 Bocdn
Dt8eis? Doy PRE 0o KHNG WHOsIH, {15 marks)

Section C/C @008
(Answer at least 01(One) question) (¢0® Baews! O ydmemdds BEnc wuBe gnd.)

05. (a) 2 moles of hydrogen and one mole of nitrogen were placed in a 3.0 dm® vessel. At 527
temperature and 7,96 X 10° Pa pressure the system reach the foliowing equilibrium with
equilibrium constant K¢ =0.6 mol? dm®.

8@ 3.0 dm’ § mesmen! ne ©8§us! 0@uc 2 wle »BJs 0@ 1 o ¢ grinbon .
wdBe 527°C 2 o@nfnmibe Hgolm gnd 880 uddBed Boime 7.96 X 10° Pa ed.
OB gl e®@nEnm Bome Kc=0.6 mol? dm® dxlest »®

Nag) + 3 Hzg — 2 NHag)

(i) Write the expressions for Ke and Kp/ Kp oo Ko wewn gmons Eesim,
(i) How many moles of NH3, Hz and N2 gases will be present at the equilibrium.
w@nEmme gleted sciBed Bedx NHi, Hz we N2 Dog 0@ vemn ewmwesin.
(iif) Calculate the equilibrium constant K at this temperature.
58 cdwmlDedd s@nBEnm Bume Kp ceme wdsim. (30 marks)




(b) Write balanced chemical equations for the following reactions with
swn nhfes oo B8 Swedm wdmden usin.

(i) Barium hydroxide and sulphuric acid / e®8w® wBefhled sy oEBebn ¢@cw
(i) Hydrochloric acid and ammonia / w8eguseciBal ¢®ce v gre®@dBiwo

(iii) Dissociation of H2CO3 / moeaeBs §@ced Budmwed (30 marks)

(¢) The concentration of acetic acid in a solution is 0.02 mol dm™, The dissociation constant
of acetic acid K, is 1.62 % 107 mol dm?3. / eoxfcenes 0.02 mol dm™ § 835 ¢O¢
eoDenem Bodm Hone Ko 1.62 X 107 mol dm? =@

(i) Calculate the H" concentration[in mol dm)
»BREB? qum sosigens mol dm? 88 vemme mdsim.

(i) Calculate the pH of the solution./ g&esed pt gowe emme mosis.
(iii} Calculate the pKa of the acetic acid. / ;83w g®ced pKa gon vemne WOBID.

(iv)What is the salt that should be added to the above acid to convert in to a buffer solution?
pum gdco ddidun gbwmen B0 R cOew OB gy o0 ¢7
- (v) Explain the buffer action on addition of an acid or a base.
8®cwen v v o ABOD ape dhdem BwdEe 8188 wouim.
(40 marks)

06. (a) A titration between 0.2 mol dm™ sodium hydroxide (NaOH) and 0.10mol dm> HCI was
carried out using a suitable indicator as described below. 20.00 em?® NaOl solution was kept
in the titration flask and HCI solution was added using a burette. The experiment was carried
out at 25°C. / 0.2 mol dm3 NaOH es®escors wo 0.10 mol dm? HCl g8¢ gbesest and
an@iemnest sun Budnd m3 af ©OE pey ¢damenl evag 0H8st Beomal., bomoewns?
20.00 cm® = gm@en BEendd con vReiiFdecits 80w Jyreddfos wbnews’
Omn m6m 8. ulses Bude 25°C & Bgmom 90 sgmoin.

(i) Caleulate the pH of the NaOH solution in the titration flask, before the addition of the HCI
solution, @®cw Smn ABLD go® Bdned & wowed pH quo ommw WOBID.

(ii) Caleulate the pH of the solution in the titration flask, afier the addition of 20.00 cm? of the
hydrochloric acid (HCI) solution, Is the solution in the titration flask is acidic or
basic? Explain your answer briefly. / HCl g@¢ gdenowes? 20.00 cm? =f gm@onm dedmd
ol mE sy Credn ebemed pH goo nemmne »osTn. 99 bemw HOEW¢dBme? O
em3ens? Dudnd wmosin,

(iii} Calculate the volume of the hydrochloric acid (HCI) solution required to reach the
equivalence point or endpoint,
BOmmy EERBENED C®Wd® wewm eban HCl 8880 somme mosinm.
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(iv) After reaching the equivalence point another 5.00 ¢m? of the hydrochloric acid (HCI)

solution is added to the titration flask. Calculate the pH of the solution in the titration flask.
8@mow ernd com § o HCl 8@ce »0x5 5.00 cm?® o ¢m@osm didndd ont
mowles! m»® gbuom obaed pH gow ewmiwsis,

(v) Sketch a graph for the variation in pH of the mixture in the titration flask with volume of the

(b)

(D

(iD)

hydrochloric acid (HCI) solution added (titration curve). Label the axes indicating pH on the
y-axis and the volume of hydrochloric acid (HCI) solution added on the x-axis Clearly mark
the pH of the points (such as starting, end and equivalence point, calculation of the pH at
equivalence point is not expected)

Omn wmom ¢ HCl 08800 @0 gm®ion dewwdned ef 8gwend pH qgoe ebmedm
g@S (em@oom DR w) Y wdvoBs! ¢Fostn. e o8 mosim. y- qutes @ pH  gos
W X- glee O dmn mom cdw HCl oléd ¢l pH gows B9080 cnen mdsim.
(pC®wm, aduem o wdmm Eese, e®@mm cfesed pH ase wemme B8 gB@s
@rRed,) (60 marks)

A water sample contains SO5~ ions. To a 100.0 cm?® of this solution a dilute solution of BaCl,
was added in excess. The precipitate formed was washed with water and dried it to constant
mass. The mass of the precipitate was 0.699 g,

8 wo®ocam S05™ gqum gieg O, 03z 100.0 cm? = ©:8y0 oy BaCly cdeswmt o
=o®s ghdedeme WOy ced. o edFednw cudh B Yeews! eefen Bon
dmsides credm nd Becs vslmw G il ednledned dnide 0.699 g »®,

Determine the concentration (mol dm) of SOZ~ ions in given water sample
HE mdncem gig S03™ gem aosfeeme mol dm? ©8zf ewwsie.

The solubility of Ag2S04 at 25°C in water is 1.56 X 10™*mol dm Calculate the solubility
product of AgaSOs at same temperature.

Ag2SO4 D@ deod ¢Dumbw 25°CE 1.56 X 107 mol dm? ©»® AgSOQs OE gobnoo
apéme aanms mSsTo. (40 marks)

3% 3 o ok oK K ok ok ok ok ok ok ok ok ok ok ok
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ANSWER ALL QUESTIONS

.1.[1[2|3i4|5|

« 213 A 15]

7.{1]2[3[4]5]

101 ]2[3]4](5]

B[T]2 3 [4]5]

w6123 14]5]

191213 ]4]5]

n[1]2]3]4]5]

asf1[2]3]4]5]

Unattempted

Questions

Correct
Answers

2. (1|2 ]3]4]5]

5. [1]2]3]4a]s5]

8. (]2 [3]4]s]

1. [ 12 [3]4]5]
14, [1}2 ]3[4 5]
17. 112 [3 14 |5 ]

2

=

SEIFAERENER

2

w

SEEAENERER

Wrong
Answers

s{tj2]3]4]s]

6|1 [2]3]4]5]

9.1 [2 |3 |4 [5]

/123 ]4]5]

150123 ]4][5]

181 |2 ({3 ]4]5]

2{1 [2 |3 [4]5]

241 |2 [3 [4]5]

Marks




OUlZ3




